SOM3 TRIG IIENTITI=S

An identity 1s an equation wiich holds for all values of the variable.

He 1ist seven pairs of sin/ cos identitlies.
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cos(-t) « cost (sym) Se cos(t+T) wewcost

dn(-t) = ~sint (odd) sin(L+m) o ~aint

cos(4¥=t) = swnt ‘ , be - cos(Wet) = -cout

sAn(ir-t) = cost (ccmplement) dn(ir=t) « sint (supplemrent )
cos(L+34™) = ~sint 7e cos(2wr+t) e cogt

An(t+A¥) « cost An(2r+t) « sint (Periodic)

cos(t=4m) « sint
HAn(t«-31) e «cost

Corrasponding to sach idemtity we give below a pdcturs of 2 points am

the umt circle. One podnt is P, , the other is the podnt whoee co e
on the left side of the idantity.”’ The relative position of the 2 hori®®s T
illustrates. the identity.
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